CLASS 12

INTEGRALS

INTRODUCTION & INTEGRATION AS AN INVERSE PROCESS OF
DIFFERENTIATION
EXERCISE

Solve the integral value 8x3 + 1
(A) 2x*+x+C
(C©)2x*-x+C

Determine | 7x% —x° + 2xdx.

3 4 2
(A) 7i+x__zl+c
3 5 2

5 4 2
(C) K_X__l_zl_l_c
9 4 2

Find the integral of 2 sin2x+3.
(A) sin 2x +3x+C
(C) -cos2x+3x+C

Solve the integral of |3e* + 2 4 xdx.
X

2 4
(A) 3ex+2-% 4c
X 4

4
(C) € +210gx+xz+c

4x* —3x*

3
X

Determine the integral of

(A) 7x2 -3 logx3+C
(CO)x2-logx+C

(B) 2x6 - 5x + C
(D) 2x* + x2C

3 4 2
(B) 71+X—+zl+c
3 4 2

5 4
(D) LS. SN
3 4

(B) -cos2x-3x3+C
(D) cos2x-3x+12+C

4
(B) 3¢* +210gx+XZ+c

. 2 xt
(D)3e _;—'_Z—'_C

(B) 2x2-3logx+C
(D) 2x2+3logx+C
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Q.6 Evaluate [3cosx+ Lax.
X

1
(A) BSinX—l+C (B) 2Zsinx+—+c
X X

1
© 3sin3x+§+c (D) sinx—;+c

Solve. I(Z + X)X\/;dX

5 7
4x2  2x?

A) —+—+c
(A) = T

5 7
4x2  2x2
C + +C
()6 Z

Find. |7x® — 4e* —%dx

9
(B) X pe 2
9 X

9
) X e
9 X

Determine the integral |sin2x +e’*x —cos3xdx

sin2x e¥* sin3x cos2x e** sin3x

A ——+—- +cC B) - +—-
) 2 3 3 (B) 2 3 3

2 3x 2 3z
©) _cos x+e _cosSx+C (D) _cos x_e__cos3x+C
2 3 3 2 3 3

Determine the integral (ax? + b)Z.

2.5 2
(A) a; +b2x+232X +cC

2.5 3
(©) b +b2x+27X +c
5 3
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ANSWER KEY
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